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I. Warm-up (4 points per question / No points deducted for wrong answers)

1. Refer to the pattern below. Find the missing figure.
Dwa vao quy luGt dudi déy dé tim hinh con thiéu.

?
A) B) C)
D) E)
2. Ashley arranges five puzzle pieces below

to make one mathematical expression. 52
Find the greatest value that Ashley can

create.
Ashley xép 5 mdnh ghép dudi ddy thanh mét

biéu thure todn. Tim gid tri I6n nhdt ma Ahsley +53

¢4 thé tao ra.

A)5 B) 10 C) 100 D) 101 E) 110
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3. Emma and Lilly have some cards, each of which is one-digit prime number. They combine
cards to form 2 two-digit prime numbers. Given that Emma’s number is the smallest
possible value and Lilly’s number is the greatest possible value. Find their sum.

r FERMAT

Emma va Lilly c6 mét sé 1 bdi, trén méi I bai Id mét s6 nguyén té cé mét chir s6. Hai ban ghép
cdc Id bai lai d€ tao thanh hai s6 nguyén té cé hai chi¥ s6. Biét rang s6 ciia Emma ghép duwoc la
s6 nhé nhdt cé thé va sé cda Lilly I s6 I&n nhét cd thé. Tinh téng hai sé dd.

A) 84 B) 107 C) 110 D) 86 E) 96

4. Amy glues 6 steel wires, each of length 20cm to create ,\5?-

the pyramid below. Starting at one vertex, she

decorates it with black beads along every edge at 2cm

intervals. When she completes, how many beads has

she used?

Amy ¢6 6 soi ddy thép, mbi ddy dai 20cm. C6 bé gdn chiing

lai d& tao thanh hinh chép dwdi déy. Bat déu tir mot dinh,

Amy dinh cdc vién ngoc den cdch nhau 2cm doc theo méi

canh nhuw hinh vé. Khi cé bé trang tri xong, hoi cé bé dd dung

bao nhiéu vién ngoc?

A) 60 B) 56 C) 54 D) 58 E) 52

5. In May 2021, two teams A and B produced 720 machine parts altogether. In June 2021,
since team A produced more than last month 15% and team B produced the same, at
the end of the month both groups produced 765 machine parts. How many machine
parts can be produced in May 2021 by team B?

Trong thdng 5 ndm 2021, hai déi A va B san xuét duoc 720 chi tiét mdy. Thdng 6 ndm 2021, vi
ddi A sén xudt dwoc nhiéu hon thdng trudc 15% va s6 sén phdm cia déi B khéng déi nén cubi
thdng cé hai déi sGn xudt duoc 765 chi tiét mdy. Héi trong thdng 5 ndm 2021, déi B san xudt
duoc bao nhiéu chi tiét mdy?

A) 300 B) 345 C) 336 D) 400 E) 420

Il. Speed-up (6 points per question / No points deducted for wrong answers)

6. While a pile of seven chairs is 1.44 meters, a pile of ten chairs is 1.56
meters. Find the height of one chair.
Mot chéng bay ghé thi cao 1.44 mét. Mt chéng mudi ghé thi cao 1.56 mét. Hoi
mét chiéc ghé cao bao nhiéu?

A) 1.2m B) 1.1m

C) 1.3m D) 1.4m

E) None of the above
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7. In front of Graham’s Bicycle Bazaar there are some unicycles, some bicycles and some

tricycles. Lucy sees that there are seven saddles in total, thirteen wheels in total and
more bicycles than tricycles. How many unicycles are there?
Phia trwdc ctra hang xe dap ctia Graham cé mét sé chiéc xe dap mét bdnh, xe dap hai bénh va

xe dap ba bdnh. Lucy nhin thdy cé tdt ca 7 cdi yén xe, 13 cdi bdnh xe va sé xe hai bdnh nhiéu
hon sé xe ba bdnh. Héi ¢6 bao nhiéu chiéc xe dap mét banh?

A) 1 B) 2 C) 3 D) 4 E) 5

8. Lucy folds the net below to get a paper house. Which figure does Lucy’s house look like?
Lucy gdp hinh tréi phdng dudi ddy dé tao ra mét cdn nha béng gidy. Héi nha cua Lucy tréng

giéng cdn nha ndo?

ﬁ E) None of the above
D)

9. There are some students who participate an Olympiad Mathematic Test, each of them

has to do 10 math problems. The points are given as follows. The contestants get 2
points for each correct answer, 1 point for each blank answer and 0 point for each
wrong answer. At least how many students are there to ensure that two of them get
the same score?
C6 mét s6 hoc sinh tham gia ki thi Todn Olympic, mdi ban phdi lam 10 bai todn. Piém cta bai
thi dwoc quy dinh nhw sau: Thi sinh dwoc cdng 2 diém cho méi céu tré 1o ding, cong 1 diém
cho mbi cu dé tréng va khéng duoc cong diém ndo cho cdc céu lam sai. H3i cén cd it nhdt bao
nhiéu hoc sinh tham gia dé chdc chdn trong dé ¢ hai ban cé cling s6 diém?

A) 11 B) 12 ) 20 D) 21 E) 22
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10.Three isosceles triangles and an equilateral triangle are A B
combined to form a square as the figure below.
Calculate the angle AEB.
Nguwéi ta ghép ba hinh tam gidc cdn va mét hinh tam gidc déu
dé tgo thanh hinh vuéng nhw hinh dwdi déy.

Tinh dé lon goc AEB.

D C
A) 120° B) 130° C) 140° D) 150° E) 160°

lll. Challenge (8 points per question / No points deducted for wrong answers)

11.Rachel draws a 5x5 table. She colors each cell with one of 4 colors: Red, Blue, Yellow
and Green so that any two cells with the same vertex must be different. Unfortunately,
her younger brother erased most of the color as the picture below. Which color can the
cell “X” be painted by Rachel?
Rachel vé mét bang 5x5 trén gidy. Cé Gy té mau tét cd cdc 6 bdi 4 mau: d6, xanh dwong, vang
va xanh 1d sao cho cdc 6 chung dinh thi c6 mau khdc nhau. Khéng may, em trai Rachel dé xoa
di gn hét cdc mau nhw hinh dwéi ddy. HSi Rachel cé thé dé té mau ndo vao 6 ddnh ddu “X”?

A) Only blue B) Only green C)Onlyred D)Red oryellow E) Yellow or green

12.There is a spider sitting in the middle of the red wall in the bedroom. A butterfly is
resting at the top left corner of the window which is placed in the middle of the opposite
wall. Given that the cubic bedroom has side length of 2.8m and the square window has
a side length of 1.2m. What is the shortest distance the spider would have to crawl on
the wall to catch the butterfly given that his path must be parrallel to one of the side?

(Image is for illustrative purposes)
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C6 mét con nhén & chinh gitta birc twong mau dé trong mdt phong ngu. Mét con bwdm dang
déu & mép phia trén bén trdi cua chiéc cira s6 & chinh giita bire twdng déi dién. Biét phong ngu
hinh Idp phwong ¢ dé dai canh 2.8m va cira s6 hinh vuéng cé d6 dai canh 1.2m. Héi con nhén
phdi bo trén tuong mét doan ngdn nhét I bao nhiéu dé bat duroc con bu'dm biét rang con nhén
phai di song song v&i mét trong cdc canh tudong?

(Hinh chi mang tinh minh hoa)

A) 5.2m B) 5.5m C) 5.6m D) 6m E) 5m

13.The velocity of a train is recorded in the line graph below. Find its velocity at 7.4

seconds.
Téc dé clia mét chiéc tau dwoc ghi lai trong biéu dd dwong dudi déy. Tinh van téc cda tau &
gidy 7.4.

Velocity (m/s)

Time (s)
A) 44m/s B) 45m/s C) 46m/s D) 47m/s E) None of the above

14.There is a pile of rice sacks. The weight of three lightest sacks is 21% of the whole pile.
3
The weight of four heaviest sacks is g of the whole pile. How many rice sacks are there

in the pile?
Cdc bao gao dugc xép thanh mét chéng. Ba bao gao nhe nhét chiém 21% téng s6 gao. Bén bao

gao ndng nhdt chiém g téng s6 gao. Hoi chéng dd cé tat ca may bao gao?

A) 7 B) 8 C) 9 D) 19 E) 26
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15.A rectangular paper with dimension 25cm x 20cm is folded so that the vertex B lies on
the side AD as the figure below. Find the area of the paper after being folded.
Mét to gidy hinh chi¥ nhét c6 kich thudc 25¢cm x 20cm bj gép lai sao cho dinh B nGm trén canh
AD nhuw hinh vé dudi ddy. Tinh dién tich cua to gidy sau khi bi gép.

A 20cm B

25cm

A) 343cm? B) 343.75cm?  C) 344cm? D) 343.5cm? E) None of the above

IV. Star of hope (10 points per question/ 10 points deducted for wrong answer)
In this part, you should write your answer on the answer sheet.

16.1n a camp trip, the students bring two wooden sticks of length 2.5m to build the frame
of the tent gate as the figure below. Since Andy sees a heavy cubic box on the ground,
he manages to push it through the gate into the tent. Find the maximum volume of the
box in m3.
Trong chuyén di cdm trai, cdc ban hoc sinh mang hai thanh gé dai 2.5m dé lam khung cho céng
1éu nhw hinh dudi déy. Andy thdy c6 mét chiéc hép hinh IGp phwong rét ndng trén mdt dat va
céu bé dé day chiéc hép qua cbng vao trong léu. Hi thé tich I&n nhdt cd thé cia chiéc hdp la
bao nhiéu m3?

Congratulations!
This is the end of the test. Please review the answers carefully before submission.
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